2 REARE=SIVBRERR

i LT #55E (Ba/ke)
No | siEEtk | AR | wErH | . AP | FEER G RE RE% P L) R, B par | BRE 0 BR | oois | cerwr | osant
1 %f*ﬁ vy | BRR | sRERW — FeimBE R REY *93 — BERRERE V- Ge H25.7.31 | H25.81 <54 <44 <9.8
2 %f‘;%;yj BRR | FERT |— FEE REY 93 — EERBRERE I Ge H25.7.30 | H258.1 <50 <50 <10
3 %f*ﬁ vy | BRR | sRERW — B REY *93 — BERERERE V- Ge H25.7.30 | H25.8.1 <63 <52 <12
4 %f‘;%;yj BEER AR |— FEE REY YNAUTY — EREREERE VS Ge H25.7.31 | H258.1 <6.1 <54 <12
5 %f*ﬁ oy | BER RFEH  |— I REY 2avH — BERRERE V- Ge H25.7.29 | H25.8.1 <54 <52 <11
6 %f‘;%;yj BEER THMET | — FEE REY 4 ik EERBRERE I Ge H25.7.30 | H258.1 <35 <28 <6.3
7 %f*ﬁ vy | BER THET — I REY YUROASY = BERRERE - Ge H25.7.29 | H25.8.1 <46 <46 <9.2
8 %f‘;%;yj BEER TET | — FEE REY [ Nobi — EERBRERE I Ge H25.7.29 | H258.1 <6.9 <6.1 <13
9 %f*ﬁ vy | BER THET |— I REY 2avH — BERRERE V- Ge H25.7.30 | H25.8.1 <54 <50 <10
10 %f‘;%;yj BEER ARET |— FEE REY 4 ik EERBRERE I Ge H25.7.29 | H258.1 <32 <23 <55
1 %:%E )y | BER REET |— FEiE REY EJAva)— |- BERRERE V- Ge H257.29 | H258.1 <46 <40 <8.6
12 %f‘;%;yj BEER ARET |— FEE REY wv — EERBRERE I Ge H25.7.29 | H258.1 <6.0 <55 <12
13 %§§J>7‘ rER REET |— FEiE REY EERA — BERRERE V- Ge H257.29 | H258.1 <17 <173 <15
14 %f‘;%;yj BEER ARET |— FEE REY IHTA — EERBRERE I Ge H25.7.29 | H258.1 <42 <32 <14
15 %f*ﬁ oy | BER REET |— I REY YNLTHR |- BERRERE V- Ge H25.7.29 | H25.8.1 <39 <38 <17
16 %f‘;%;yj BEER ARET |— FEE REY TUNYHSTY  |— EREREEREG VS Ge H25.7.29 | H258.1 <58 <49 <11
17 %f*ﬁb,j rER REET |— I REY koS — BERRERE V- Ge H25.7.29 | H25.8.1 <6.0 <41 <10
18 %f‘;%;yj BEER ARET |— FRE R REY RAH — EREREERE VS Ge H25.7.29 | H258.1 <31 <25 <5.6
19 %f*ﬁ vy | BER RIRET | I REY k<h B4 BERRERE V- Ge H25.7.30 | H25.8.1 <31 <33 <6.4
20 %f‘;%fb,j BEER RiERT | — FEE REY 4 ik EERBRERE I Ge H25.7.29 | H258.1 <33 <27 <6
21 %f*ﬁ vy | BER RIRET | I REY P — BERRERE V- Ge H25.7.29 | H25.8.1 <41 <31 <12
22 %f‘;%;yj BEER RiERT | — FEE BEY Sk — EERBRERE I Ge H25.7.29 | H258.1 <10 <58 <13
s (FRE | man | mace |- FHER | REN LN ERRRRNA L 5— Ge | H730 | H2sen | <67 | <as | <z
24 %f‘;%;yj BEER EEAET | — FEE REY 93 — EERBRERE I Ge H25.7.30 | H258.1 <41 <32 <13
25 %f*ﬁ vy | BER HERE  |— I REY *93 — BERRERE V- Ge H25.7.30 | H25.8.1 <47 <45 <9.2
26 %f‘;%;yj BEER EEAET | — FEE REY =Eip — EREREEREG VS Ge H25.7.30 | H258.1 <43 <38 <81
n (FRE | man | mace |- FHER | REN ke — L Ge | H730 | H2ser | <a4 | <38 | <
28 %f‘;%;yj BEER EEAET | — FEE REY =Ty — EREREERE VS Ge H25.7.30 | H258.1 <39 <39 <18
29 %f*ﬁ vy | BER HERE  |— I REY YNLTHR |- RERRRRE V- Ge H25.7.30 | H25.8.1 <52 <54 <11
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#58 (Ba/ke)

NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
30 %f“;%,,j AJIIET MBS roEQOY — BEERREREG VS Ge H25.7.31 | H25.8.1 <36 <35 <74
31 %ff’fp,j AJIET FERE R ooy — EERBRERE I Ge H25.7.31 | H258.1 <31 <39 <

32 %f*ﬁ )5 FEHA JERIB G E—<y — EEREERE VS Ge H25.7.31 | H25.8.1 <41 <39 <8

33 %f‘g%;) 5 BEm FERE R EE — EERBRERE I Ge H25.7.30 | H258.1 <27 3.56 36

34 %f*,ff % 'EM JERIB G EE — EEREERE VS Ge H25.7.30 | H25.8.1 <34 <29 <6.3
35 %f‘;%;yj ZART FRE R RAEE — EERBRERE I Ge H25.7.31 | H25.8.1 <30 <30 <6

36 %f*ﬁ % KEH JERIB G TEY — EEREERE VS Ge H25.7.31 | H25.8.1 <45 <35 <8

37 %f‘;%;yj T 4ERET FRE MR RAEE — EERBRERE I Ge H25.7.29 | H25.8.1 <27 <28 <55
38 %f*ﬁ 7 T4RET JERIB G T— — EEREERE VS Ge H25.7.29 | H25.8.1 <35 <37 <12
39 %f‘;%;yj E=1:) FRE MR EE — EERBRERE I Ge H25.7.29 | H25.8.1 <37 <21 <58
40 %f*ﬁ % E= ) JERIB G REE — EEREERE VS Ge H25.7.30 | H25.8.1 <45 <22 <6.7
41 %f‘;%;yj E=1:) FRE R AEE — EERBRERE I Ge H25.7.29 | H25.8.1 <36 <31 <6.7
42 %f*ﬁ 7 FEE CET JERIB G REE — EEREERE VS Ge H25.7.30 | H25.8.1 <43 <36 <19
43 %f‘;%;yj FEA FRE MR Ti—~Yy— — EERBRERE I Ge H25.7.29 | H25.8.1 <52 <33 <85
44 %:%E I HaEm JERIB G ERLLMV = B4 EEREERE VS Ge H25.7.30 | H25.8.2 <38 8.13 8.1

45 %f‘;%;yj il FRE R BARLL=IF ik EREREERE VS Ge H25.7.31 | H2582 <40 11.0 11

46 %f*,ff IS, WhEM JERIB G BRGHT B4 EEREERE VS Ge H25.7.30 | H25.8.2 <37 <37 <14
47 %f‘;%;yj LhET FRE MR ERGHT ik EERBRERE I Ge H25.7.30 | H2582 <45 <23 <6.8
48 %:%E 7 B JERIB G BREW=F i EEREERE VS Ge H25.8.1 H25.8.2 8.80 134 22

49 %f‘;%fp,j E=1:) FERER FFET BiRE EERBRERE I Ge H25.8.1 H25.8.2 7.83 225 30

50 %f“ﬁb,j E%A™ JERIB G L3 — EEREERE VS Ge H25.8.1 H25.8.1 <9.7 <88 <19
51 %f‘;%fp,j INEFET FERE R 4R — EERBRERE I Ge H25.8.1 H25.8.1 <174 <6.9 <14
52 %:%E % /NPT JERIB G L3 — EEREERE VS Ge H25.8.1 H25.8.1 <82 <80 <16
53 %f‘;%;yj =t FERE R 4R — EERBRERE I Ge H25.8.1 H25.8.1 <83 <70 <15
54 %:%E % INEFET FeimBE R 47 — BERRERE V- Ge H2581 | H2581 <83 <74 <16
55 %ff’fp,j NmF FERE R 4R — EERBRERE I Ge H25.8.1 H25.8.1 <13 <79 <15
56 %f“ﬁ),,j Nnim#t JERIB G L3 — EEREERE VS Ge H25.8.1 H25.8.1 <96 <84 <18
57 %f‘;%fp,j FEA FERE R 4R — EERBRERE I Ge H25.8.1 H25.8.1 <638 <14 <14
58 %f“;%,,j AJIET JERIB G L3 — EEREERE VS Ge H25.8.1 H25.8.1 <70 <11 <15
5o |REBE =t FERE R 4R — EERBRERE I Ge H25.8.1 H25.8.1 <82 <13 <16
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#5 R (Ba/ke)

Cs-134 | Cs-137 | Cs&F
<77 <6.9 <15
<97 <16 <17
<85 <6.8 <15
<76 <55 <13
<88 <90 <18




